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2BBAR 142 141 72 - — 1.96| 187 187 82 213 T71.0%  2.28
. DIESFR FEAR 259 257 145 — — 1.77| 239 239 125 205 68.3% 1.91
DIEFE .
IRBAR 140 140 100 — — 1.40 92 92 67 387 64.5%  1.37
FEEE 541 538 317 — — — 518 518 274 — — —
2BBAR 23 23 18 — — 1.28 32 32 28 143 47.7% 1.14
e 3REAR 51 49 39 — — 1.26 44 43 34 145 483% 1.26
BERFH .
AFBAR 15 15 13 - — 1.15 10 10 10 288 48.0%  1.00
INEt 89 87 70 — — — 86 85 72 — — —
2BBAR 30 30 25 — — 1.20 36 36 30 145 483%  1.20
e REAR 58 57 48 — — 1.19 39 39 36/ 145 48.3%  1.08
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IFBAR 14 14 1 - — 1.27 6 6 6 288 48.0%  1.00
INET 102 101 84 — — — 81 81 72— — —
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T 3REAR 80 80 37 2.16| 101 101 42 214 T1.3%  2.40
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2BBAR 31 30 22 - — 1.36 54 54 32 200 66.7%  1.69
N — — 0
T 3#?5755% 54 54 35 1.54 86 86 37 197 65.7%  2.32
AFBAR 29 28 23 - — 1.22 36 36 23 375 62.5%  1.57
INEt 114 112 80 — — — 176 176 92 — — —
2BBAR 43 43 21 — — 2.05 57 57 200 222 74.0%  2.85
3REAR 126 126 56 — — 2.25| 167 167 69 219 T73.0%  2.42
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IRBAR 51 50 39 — — 1.28 76 76 41 417 69.5%  1.85
Mgt 2200 219 116 — — — 3000 300 130 — — —
NXEZER 28EIB A 31 31 23 - — 1.35 21 21 16 191 63.7% 1.31
X 3REAR 51 50 36 - — 1.39 48 48 28 189 63.0% 1.71
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AFBAR 20 19 17 - — 1.12 19 19 15 358 59.7%  1.27
NGt 102 100 76 — — — 88 88 59 — — —
2BBAR 15 15 11— — 1.36 12 12 8 176 58.7%  1.50
BEAR 36 36 24 — — 1.50 53 53 25 175 58.3%  2.12
BESR (ABeyEy o °
IRBAR 13 12 9 — — 1.33 9 9 8 325 54.2% 1.13
INGT 64 63 44 — - - 74 74 41 — — -
2BBAR 27 27 13 - — 2.08 36 36 9 220 73.3%  4.00
- 3FEAR 69 69 39 — — 1.77 88 88 27 218 T2.7%  3.26
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AFBAR 26 26 19 - — 1.37 30 30 200 409 68.2%  1.50
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2BBAR 63 63 31 — — 2.03 71 71 44 206 68.7% 1.61
s 3REAR 65 65 36 — — 1.81 08 08 43 200 66.7%  2.28
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FEEE 600 599 415 — — — 544 543 312 — — —
2BBAR 146 144 108 — — 1.33| 289 289 173 202 67.3% 1.67
3REAR 302 302 179 — — 1.69] 229 229 183 165 55.0% 1.25
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EpRSER 2BBAR 92 91 60 — — 1.52| 128 128 88 201 67.0%  1.45
‘ ‘ . __3REAR 137 137 82 — - 1.67| 107 107 89 170 56.7%  1.20
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IFBAR 33 33 26 — — 1.27 14 14 12 359 59.8% 1.17
INEt 262 261 168 — — — 249 249 189 — — —
FEREE 795 791 524 — — — 804 804 576 — — —
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S 2=FTRIURY PR
ARIB AR — — - — — — 35 35 28 322 53.7%  1.25
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N . 3RIEAR 193 193 77 - — 2.51| — — — — — —
lakasal 4%457;% 57 57 46 1.24
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RBEAR 148 148 119 — — 1.24| 155 155 97 176 58.7%  1.60
e 5RIEA 111 111 84 — — 1.32| 119 119 84 279 55.8%  1.42
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1Nt 314 314 229 — — — 333 333 210 -— — —
REAR 123 123 78 — — 158 119 119 78 175 58.3% 1.53
e 5RIEAR 94 94 59 — — 1.59 93 93 61 278 55.6% 1.52
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